
 Package contents M5 Plate Direct Base III x 1,M5 Cap Screw x 2, 
  Spare O-ring x 1 (for Direct Base III), 
  M5 Allen Wrench x 1, Washer (black) x 2 (incl. one spare)
 Material Corrosion resistant aluminum alloy, stainless, Polyoxymethylene
 Dimensions 38.8mm(W) x 8mm(H) x 25mm(D), 
  1.5’’(W) x 0.3’’(H) x 1.0’’(D)
 Weight 19.4g (air) / approx.13g (u/w)
  0.7oz (air) / approx.0.5oz (u/w)
 Compatible arm/base/camera system etc.
  Other brands’ housing/arm system(M5) *1*2

●Installing M5 Plate Direct Base III

The M5 Plate Direct Base III is an optional product to 
attach the Direct Base III on other manufactures’ system 
which has M5 screw.  

*1 Compatible with 2 x M5 screw holes with 6mm or more depth and 24mm～ 28mm center-to-center 
distance of screw holes.

 *2 INON INC. has not confirmed compatibility with specific product(s) from other manufactures.  Before 
using, make sure to check if the product(s) from other manufactures is compatible and does not 
interfere other combined product(s)

M5 Allen Wrench

Compatible other brands’ housing/
 arm system (M5)

●Install Direct Base III
After installing the Washer (black) on the Direct Base III, attach it on the 
M5 Plate Direct Base III so that the nail of the Direct Base III engage in the 
hole on the M5 Plate Direct Base III.

Tighten

Hole Washer (black)

M5 Cap Screw
M5 Plate Direct Base III

Features

M5 Plate Direct Base III

http://www.inon.jp/　e-mail.support＠inon.co.jp

2012.9

INON Inc.　2-18-9, Dai, Kamakura, Kanagawa 247-0061 JAPAN　fax. +81(0)467-48-2178

How to attach

Specifications

●

Unscrew the M6 Cap Screw of the 
Direct Base III by supplied M6 Allen 
Wrench to remove the M6 Cap Screw, 
M6 Spring Washer (*3), and an O-ring.

Put the supplied Washer (black) x 1 on the removed 
M6 Cap Screw then put it back on the Direct Base III 
with removed M6 Spring Washer (*3) and O-ring 

DO NOT use a washer supplied with other product.

❸

Direct Base III

Washer(black)

M6 Cap Screw
 (Direct Base III)

O-ring

M6 Spring Washer as well. (Direct Base III, *3)

❷

❶

Rubber Spacer
(supplied with Direct Base III, *3)

Direct Base III

(Direct Base III)

*3 The Direct Base III shipped before September 19, 2012 does not 
require installation of the Rubber Spacer or M6 Spring Washer.  
Those Direct Base III shipped before September 19, 2012 carry 
M6 Cap Screw hole diameter 10mm/0.4in while other Direct 
Base III have 12mm/0.5in.

Prepare Direct Base III

Tighen

Attach a Rubber Spacer (*3) 
(supplied with the Direct Base III) 
on the circular groove of the 
bottom part of the Direct Base III 
as shown in the image.

Loosen

※ Tighten firmly and completely 
     by holding long side of the Allen Wrench with hand.

Compatible other brands’ housing/
arm system (M5)

Direct Base III

M6 Allen Wrench
 (supplied with Direct Base III)

Tighten

Make sure to re-tighten 
when you observe any of below;
・  A gap between the Direct Base III and 
    M5 Plate Direct Base III.
・  Direct Base III is not upright against mounting plane.
・  Combined arm is loose.

This configuration requires the Direct Base III 
to accept ample load of combined arm system 
so the Direct Base III or M5 Plate Direct Base III 
could be damaged if the Direct Base III has not 
securely installed.

※ Tighten firmly and completely 
     by holding long side of the Allen 
     Wrench with hand.




